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U. G. 6th Semester Examination 2022
BOTANY (General)

Paper Code : DSE-4
[CBCS]
Full Marks : 25 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers in their own words as far as practicable.

1. Answer any five of the following: 1x5=5
(1) What is terminalization?
(i) What is a dicentric chromosome?
(1) Define split gene.
(iv) What are cristae?
(v) What is diffused centromere?
(vi) What is interkinesis?

(vi) What is epistasis?

2. Answer any four of the following: 3x4=12
(1) Discuss the factors that affect Hardy-Weinberg equilibrium.
(i) Mention the functions of peroxisome.
(i) Distinguish between euchromatin and heterochromatin.
(iv) Describe the different types of linkage.
(v) Write a short note on /ac operon.
(vi) Discuss incomplete dominance with an example.

(vil) Write a short note on Robertsonian translocation.

3. Answer any one of the following: 8x1=8
(1) What is translocation? Describe the different types of translocations. 2+6

(i) Describe the ultrastructure of chloroplast with a suitable diagram. Mention its functions.
4+2+2
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